Bar P A AZINZFREBLHAADNZRNES

PR

e EpELYE Aom(—4E) #HBE:EEed £ 2 ® #_/ &

AAE TR A LS - R T *HEREEEL (F) nE%

=

H
1.

10.

ill.

12.

»  Multiple Choice Questions 50% (question 1-6, each 3%, question 7-14, each 4%)

NCU Company had sales revenue and operating expenses of $6,000,000 and $5,200,000, respectively, for the year just ended. If
“invested capital amounted to $5,000,000, the firm's ROI was:

A. 16%. B. 83.33%. ' C. 86.67%. D. 625%.

Participative budgeting is an approach to budgeting that

A. is top-down in nature. B. discourages budget slack. C. allows top management to set the budget.

D is more likely to motivate people to work towards the organization's goals than a top-down approach.

Are direct labor (denoted as DL below), variable manufacturing overhead (denoted as VOH below) and fixed administrative
expenses (denoted as FAE below) , respectively, treated differently under absorption costing and variable costing?

A. VOH: yes, DL and FAE: no. B. VOH: no, DL and FAE: yes.  C. all of three: yes. D. all of three: no.

The accounting firm of NCU is examining its client base to determine how profitable its regular clients are. Its analysis indicates
that Delux, Inc. paid $72,000 in fees last year, but cost the firm $82,000 ($63,000 in billable labor, supphes and copying, and !
$19,000 in allocated common fixed costs). If NCU dropped Delux, Inc. as a client, how would profit be affected?

A. $0. B. Increase $10,000. C. Decrease $9,000. D. Decrease $72,000.

When a traditional, volume-based costing system is used, which of the following products is most likely to suffer from cost distortion?
A. A high-volume, medium-complexity product. B. A low-volume, lqw—c01nplexi‘§y product.
C. A low-volume, medium-complexity product. D. A low-volume, high-complexity product.

When a company switches from a traditional system to a just-in-time production and inventory system, what often
happens to the quality of raw material purchased (denoted as Q below) and the number of vendors that supply the firm
(denoted as N below)?

A. Qand N both increase. B. Q and N both decrease. C.Q increases, N decreases. D. N increases, Q decreases.

- Assume that a capital project is being analyzed by a discounted-cash-flow approach, and an employee first assumes no

income taxes (denoted as NT below) and then later assumes a 25% income tax rate (denoted as T below). How would
depreciation expense be incorporated in the analysis under these two assumptions?

A. NT: considered, T: ignored. B. NT: ignored, T: considered. C. both: considered. '

D. both: ignored. E. the correct answer depends on the depreciation method that is used.

The accounting records of NCU Company revealed the following costs, among others: raw material used $200,000, factory
insurance $40,000, customer entertainment $10,000, indirect labor $45,000, depreciation on salesper.son’s cars $20,000,
production equipment rental costs $72,000. Costs that would be considered in the calculation of manufacturing overhead total:

A. $157,000. B. $177,000. C. $187,000. D. $387,000. E. some other amount.

NCU sells a single product at $20 per unit. The firm's most recent income statement revealed unit sales of 4,000,
variable costs of $400,000, and fixed costs of $500,000. Management believes that a $3 drop in selling price (denoted as
change I below) will boost unit sales volume by 15% (denoted as change II below). Which of the following correctly
depicts how these two changes will affect the company's break-even point?

A. both changes: increase. B. both changes: decrease. C. change I: increase, change II: decrease.
D. change I: decrease, change II: increase. E. change I: increase, change II: no effect.

Which of the following statements is (are) true regarding a company that has implemented flexible manufacturing
systems and activity-based costing?

L. Costs formerly viewed as fixed under traditional-costing systems may now be considered variable with respect to
changes in cost drivers such as number of setups, number of material moves, and so forth.

II. The company has erred, as these two practices used in conjunction with one another will severely limit the firm's
ability to analyze costs over the relevant range.

HI. As compared with the results obtained under a traditional-costing system, the concept of break-even analysis loses meaning.
A.Tonly. B. II only. C. I1I only. D. Il and III. E. L Il and I1L.

NCU Company has computed the following unit costs for the year just ended: Direct material used $10, Direct labor $20,
Variable manufacturing overhead $15, Fixed manufacturing overhead $25, Variable selling and administration cost $8, Fixed
selling and administration cost $18. Under variable costing, each unit of the company's inventory would be carried at:

A. $23. B. $45. C. $53.. D. $70. E. 78.

NCU Company, which applies overhead to production on the basis of machine hours, reported the following data for the

-. period just ended: Actual units produced: 10,000, Actual variable overhead incurred: $98,000, Actual machine hours
" worked: 21,000, Standard variable overhead cost per machine hour: $5. If NCU estimates 2 hours to manufacture a

completed unit, the company's variable-overhead spending variance is:
A. $5,000 favorable. B. $5,000 unfavorable. C. $7,000 favorable. _D. $7,000 unfavorable.

E. some other amount not listed above. l D
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13. The East Division of NCU Enterprises has a negative residual income of $150,000. East's management is contemplating
an investment opportunity that will reduce this negative amount to $100,000. The investment:
A. should be pursued because it is attractive from both the divisional and corporate perspectives.
B. should not be pursued because it is unattractive from both the divisional and corporate perspectives.
C. should be pursued because it is attractive from the corporate perspective although not from the divisional perspective.
D. should be pursued because it is attractive from the divisional perspective although not from the corporate perspective.
E. should not be pursued because it is unattractive from the divisional perspective although it is attractive from the
corporate perspective. .
14. Consolidated NCU is considering a $1,000,000 investment in new equipment that is anticipated to produce the’
following data over a five-year life:
Year Cash Inflows Cash Qutflows Depreciation
1 $600,000 $250,000 $200,000
2 $550,000 $350,000 $200,000
3 $550,000 $200,000 $200,000
4 $600,000 $200,000 $200,000
5 $600,000 $250,000 $200,000

Ignoring income taxes and assuming that cash ﬂows occur evenly throughout a year, the equipment's approx1mate
payback period is:

A. 1 year, 9 months. B. 2 years, 10 month. C. 3 years, 3 months. D. over5 years.
E. some other period of time not noted above.
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4 ~ The Hope Company products a gasoline additive, Gas Gain, that increases engine efficiency and improves gasoline

mileage. The actual and budgeted quantities and the budgeted prices in August 2011 of the two petroleum products
required to produce 50,000 gallons of Gas Gain are as follows:

Actual Quantity Budgeted Quantity Budgeted Price
Chemical (gallons) (gallons) (per gallon) ‘
Wenz 16,200 20,800 $0.5 i b ) ﬁ "-é
Botx 37,800 31,200 $0.3 g._%‘ F e
Required = —

Calculate the total direct materials mix and yield variances for August 2011. (10%)




